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. . o . Multiple Choice  What is a solution of the
ultiple Choice. What is a solution of the equation 6 cos x — 6 = 07
uation 4 cos x + 2 = 07
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Multiple Choice  What is a solution of the
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equation sin x = '3 cos x?
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14.4 Solving Trigonometric Functions
General Solutions means...

Interval Solutions means...
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over the interval O<x<2TT

@ Solve a trigonometric equation
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Provide a general solution:
2cosx+1=0 W3
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Solve:
4tan®x-4=0 intheinterval 0 <x<2m
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Provide a general solution
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Provide a solution over the interval 0<x<2Tt

5.) 3cscx =4
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This is the same concept we're just going
to make the solving harder.
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Solve by Factoring out a common.te
interval solution
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2) Solve by Factoring out a commen-tery
general solution %
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tan®x - sinxtanx = 0
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3) Trinomial Factoring to solve

interval solution

2cos®x + cosx -1=0
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Solve and provide an interval solutions
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sinx - sinx -2 = 0
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1.) 2cos?x - 1=0 1®m:§;:t-'~
2.) YBsecx + 2 = 0 Secxgg
3.) 3sinx-10=-7 g0
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4.) 2cos?x - cosx = 0

5.) sinx + sinxcosx =0
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6.) sin®x - sinx - 2= 0 Sm?l(ﬁm{&'
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